TemBreak @ TERASAKI

Innovators in Protection Technology

AAYFTF4 RAARI AR
IIREREAE
Instruction Manual for
Switch Disconnectors

X (Types)
S400-NN
S630-NN

AR T, BLARFENT 2R Clad )
A, EIR BERREITEELA,
This product is the Switch Disconnector.
This is not a molded case circuit breaker.
This product does not provide protection
against short circuit and overcurrent.

AHRAEGERICEDZADEFLETATIREL TTEN AFISRARTOEWVEIRL,
RUESIBIRWNCE->TELZIBEICRAL T B I —ETEEVFE A,

Please retain this manual for future reference. The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

TSRS\

T547-0002 ABRMIFEXINER7-2-10
EEE 1 06(6791)9320

777X :06(6791)9274

R—L~NR— . www.terasaki.co.jp

TERASAKI ELECTRIC CO., LTD.

7-2-10 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL: 81-6-6791-9323/ FAX: 81-6-6791-9274
URL : www.terasaki.co.jp

E-mail : kiki-info@terasaki.co.jp E-mail : int-sales@terasaki.co.jp

2G0433SAD (KRB-0413d)

N REEDIIEE

WL fE R AT SAROBIIC, DT ARBEZDMD A BEEL S HRATEE EBOMHE,. ZE2D

1B, EVEFRFEOLTUCEAL TIPSRV T IV, CORRHAE T, XL ETEEE

D7 & BRI EEIELTRALTHIET

[ABR] BB £ B -5 A0 BRE KR EY 2 T T E 4 E BEE 2 3 A

BEINDIHE,

BRVEES A B BRERAN YA T, PRENESCEEETTS

AP BESNBHE,

£, ICEHLAEETH RRICL > TR ERGBRICES OUBEN HYET,

WFNHEBELRETTDTATF->TTEL,

BEIEOZE (BLICHELEBBOFMTEIENFIOTEBRBLTTEL.)

A GER

QOERITHIFFERE (BRISEL) »ToTTaL,

O R, ZRBENER BEBEMHX IR BBLERBREBICHKELEVTTIL,
NEDEREL74), EEICEBIELBEVSZNADHIET

@ I3, UMY HMEEDEMRURMAKLEN A1y F T4 RARTZASRICASE LY
SO ILTTEN MSEDEREL 70 FEED B ITNADHIET

@ LIFElL, EUTL—h%5EEO (OFF) 1L, BEL WAV EFIEELTIT>T T,
BEDNHINDHIET,

@i TR UIHMBEESF ML THREERICEHT I TV, KEDRERRELVET,

BEREDERE
A\ JEb&
@i FHI MO LV TTEV, BREDSZAN BUET
WFT - "B LEDERE
A FEE

ORT R FPIHREA T AN ToTTEL,

@R AL, LR TL—HEEEO(OFF)ICLFEEL TOWEW I EERERBL TITH> T T AL,
BEDBINDHNES,

@i F U, ERIBYICARER T LI THUDL TT SV, KEDRRELVET,

BZODiER

cHBEED) —MREF > THEESLEWT TV BBDRRELVET,

* 2Ly FTAZARXTEDAEFDHN—EFETENTTEW, e RBEERIICEE LA,

« Ry FTARARTZICERT S EIRC BRI ERERICHEL A MEEOD DEHEALT
TEW MEES NSV E BRO BT HIET,

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information,
and all other precautions before mounting, using, servicing, or inspecting the product. In
these Instructions, safety notices are divided into "Warning" and "Caution" according to the
hazard level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property
damage.

Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

HEMounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator
to ensure that no voltage is applied to the product. Otherwise, electrical shock may result.
@When connecting cable or busbar to the product, tighten terminal screws to the torque

specified in this manual. Otherwise, a fire could result.

HlHandling Precautions

/A\Warning

@Never touch terminals. Otherwise, electric shock may result.

HEMaintenance Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result..

@Regularly check that the switch disconnector terminal screws are tightened to
torque values shown within this manual, failure to do so may result in fire.

M Other Precautions

+ Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the switch disconnector cover will invalidate product
warranty.

* When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

&

ABEW—E UEELBBIR Packaged ltems/Assembly Tools

-
IRERFAE
(XE) )
. Instruction Manual * 1
X'f:ﬁ"T{ZZIZ«’%? (This document)
Switch
Disconnector : 1 BWZNYT (FCOH)
Interpole Barrier
(Only FC)
3P:2
4P : 3
3 Type
B 400AF 630AF
&/ B S S
Connections/Poles
(%?y S400-NN S630-NN
3P 6 P »
x@W (7o) 17| 3 Miox2s g D) MI0X30 @YD)
ron
Connected ii j MBX100 g MBXI00 g
3P| 6
2T (RO (7] s M12X35 W M12X30 W
ear
Connected jg j M6X100 M M6X100 M
£AR (PM) | 3P| 4
P\ug,;-_inC/onnected P 4 MEX120 M M6X120 M
EAF (PMC) | 3P 4
P\ulgfin/connected P 4 MEX100 M M6X100 M
EA (FP) o8 M12X35 W M12X30 @W
FlushPlate ~ [ 4P| 8
ere
Applicable MP: j M6X 25 P

e © OO 60600

B{ELHE Operating Instructions

@TRIPPED §

N

INRIL g
Handle -
@®
(ON)
O SO
\ U ETS
(OFF) - 0 Trip Button

RESET

BRIE N2 RIVEED

Operation Operation effort
O(OFF)= | (ON) 110N
| (ON)= O(OFF) 115N
TRIP= O(OFF) 125N

(4] RERIRMAMER Fitting Internal Accessories

#BIZAM1yF  Auxiliary Switch
MFZ M Type Bf% B Type

T2AX00M *l T2AX00B *b

EAIyF  Alarm Switch
M M Type B, BType

T2ALOOM *H T2ALO0OB *ﬂ

EESISL TREESISL
Shunt Trip Undervoltagie Trip

TsHoo || T2uvoo] |

*ftBREDETES
* Symbols of Accessories

LT [
2 | (ON)
- o
§ = =]
= O(OFF)

[1 11

LT LT 1

| (ON)
é i' ﬂg ’E‘ fiﬁfilf%ﬁirl;ggut leads
03 [l B L} =] p 9
= O(OFF)
)
] ©)

BNy F &1 (72132 D)W F11%
HE, ZAPSIEEICEUT TR,
In case of fitting one(or two) auxiliary
S}Nitch, fit in an order from a left side-
slot.

- BSEBTI R, TIEREICBET B EEHBL TS, ZERATIV,
+ After fitting, verify the function of the Accessory.

TIR5| = H UEBOMIE  Pull Out Leads on Load Side

1) > %= — % Ring Mark

B F FHA{ 7
Auxiliary Switch Alarm Switch
alEs biE s affm | bR

a contact b contact | acontact | b contact
T1/AXc-14/AXa | 11AXC-12AXD | 91/aLc | 91/ALc
21/AXc-24/AXa | 21/AXc-22/AXb - -
31/AXc-34/AXa | 31AXC-32/AX | SVALa | S2/ALD

EE5IHLER | FEEERNLER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2

4L Removal




Bl AFMARE K@K - KAk (6] RHFMITE ITAY BERES RAW - 1BAY B JNFLAGFEFRGRSR REWK

Breaker Mounting Procedure for FC / RC Breaker Mounting Procedure for F.P ( Where Applicable ) Conductor Connection Procedure Solderless Terminals Mounting Procedure for FC
for RC / F.P ( Where Applicable )

= X @a@@

T wAZ Y F e
YIVE L T
T;';;Zros:ds - ]V Solderless Teyrﬂ?ninal
T2FW40S =k
TS *
e (630AE) w *:3 or4 (1834 Poles)
*:3 or4 (183§ Poles)
400AF 630AF \ =25mm
77yvaTlL—+ M10X20 M8X25 Wi =240mm’
Flush Plate | @186~2Nm | @ 88~14IN'm 9% 73l Special Screw
T2FP40S * =4 M 14mm 13mm j X MBX25
A %13 ord (1B%L Poles) o] M12X35 M12X30 7~95N'm
2G0433SAD (KRB-0413d)| 02-6N'm 4 BNm
SHRERR K@Y
Conductor Connection Procedure for FC
ﬁf i
.,
:]: 5 C
F
= B B7ri-
J Flat Bar U
400AF | 630AF @ T2FB40* B
B =25mm (400AF)
C <125mm T2FB46 % B
D 10.5mm (B30AF) H00AF | 60AF
E =25mm *:3 or4 (123 Poles) MI0XZ5 | MI0X30
F =12mm 13.7~22.5N'm
G| =10mm | <12mm K| M12X3 [ M12X40
H 11mm 40.2~65.7N-m
AHERAESR ZAK W) TRAESE WFHAN—BAERR N RWVENVE /Oy BT ER
Breaker Mounting Procedure for PM Interpole Barrier Terminal Cover Handle Holder / Lock Mounting Procedure
Mounting Procedure Mounting Procedure
£t v ] _/ L
Plug-in Base NRIVFVE /Ty I
T2PM40 * B Handle Holder/Lock
(400AF, 630AF) T2HL40
wFNUT
Interpole Barrier
T2BA40* S S =
_ s N—0
*:3 or4 (183§ Poles) Temminal Gover Lock (]
T2CFOOL
i WA= (]
Connection Terminal Cover max x3 (¢5~8)
< ) (FN— &
FIEE B o Faio) | T2CF40# SL (
T2PMA40E 4| B e ba) | T2CFA0% SW : I
(400AF) BE - E0F T2CRA0% S NRIVFIVE /By71E, | (ON),O (OFF) IEDWFh THRF I TEET,
T2PM40C RC/PM Handle holder/ lock can be fitted in any position of | (ON) and O(OFF).
(400AF) *:3 or4 (18] Poles) NRNVAYELTER T35 EIIQDFIETEREERFITTFE,
. B S UIERT OB FIBTITVET S UIBRT OB FIBTITVET *When you use this item as the handle lock, please fit padlocks in the procedure of ®.
B LR OBEFIETTVET, *When removing, remove the items in *When removing, remove the items in BSLIEE F OBEFIRTITVET
+ When removing, remove the items in reverse order of mounting. reverse order of mounting. reverse order of mounting. *When removing, remove the items in reverse order of mounting.




